
L2(32) (mod 11)

blocks defect matrix

G : 1 1 7× 2
2 1 11× 1
3 0 331 = χ19, ϕ4

4 0 332 = χ20, ϕ5

5 0 333 = χ21, ϕ6

6 0 334 = χ22, ϕ7

7 0 335 = χ23, ϕ8

8 0 336 = χ24, ϕ9

9 0 337 = χ25, ϕ10

blocks defect matrix

10 0 338 = χ26, ϕ11

11 0 339 = χ27, ϕ12

12 0 3310 = χ28, ϕ13

13 0 3311 = χ29, ϕ14

14 0 3312 = χ30, ϕ15

15 0 3313 = χ31, ϕ16

16 0 3314 = χ32, ϕ17

17 0 3315 = χ33, ϕ18

Block 1: ϕ1 ϕ3

11 = χ1 1 .
312 = χ3 . 1
313 = χ4 . 1
314 = χ5 . 1
315 = χ6 . 1
316 = χ7 . 1
321 = χ18 1 1

ϕ1 = 11
ϕ3 = 312

Block 2: ϕ2

311 = χ2 1
317 = χ8 1
318 = χ9 1
319 = χ10 1
3110 = χ11 1
3111 = χ12 1
3112 = χ13 1
3113 = χ14 1
3114 = χ15 1
3115 = χ16 1
3116 = χ17 1

ϕ2 = 311


